Solution: 0ap$ize

Author: Henry Wong

The puzzle was set up as twelve pairs of images arranged in a circular fashion. Inside the circle, gold “coins” with
a number on top of them.
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SCAR, DATE
ICE, BRIE
LOCK, BEG
CITY, PI

ON, OFF

WAR, ROW
SEA, RATING
NATIONS, MAN
LEG, FLY
HER, SON
INNINGS, CAR
FUR, ION

These words can be paired to make another word. These words, much like capsize, are “fake compound words” -
they are made up of two words, but have nothing to do with either word. Along the line of sight between the two
halves of the words there is a coin that provides an index into the word.

WORD 1 WORD 2 LOCATION 1 LOCATION 2 INDEX LETTER
BEG INNINGS 3 11 4 I
CAR NATINOS 11 8 4 N
MAN DATE 8 1 1 M
SCAR CITY 1 4 3 A
PI RATING 4 7 S T
SEA SON 7 10 2 E
HER ON 10 5 1 H
OFF ICE 5 2 1 9]
BRIE FLIE 2 9 6 L
LEG ION 9 12 1 L
FUR ROW 12 6 5 O
WAR LOCK 6 3 1 W

These words actually form a full circuit through all 12 locations. This loop started with the word BEGINNINGS,
which hopefully clues where to begin. Reading the indexed letters gives the clue phrase “inmate hollow”. These
are synonyms that can form another “fake compound word” which is the answer: CONCAVITY.
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